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Section 1 Listening Comprehension
Listen to the four statements and choose one statement that best describes the picture.

Sy
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Section 2 Listening Comprehension

Listen to the four conversations and answer the questions.

(1) When will the woman probably attend the workshop?

o0 T 0o

On Monday.
On Tuesday.
On Thursday.
On Friday.

(2) What is implied in this conversation?

o0 T

The cafeteria asked the woman to find why the cafeteria was crowded.
The woman went to the cafeteria, so she was almost late.
The woman has written a report about why the cafeteria is always busy.

The man and the woman's research topic for a class is about the cafeteria.

(3) Where is the woman most likely to transfer?

o0 T o

At Wimbledon Station.

At Southfields Underground Station.
At Boston Manor Underground Station.
At Brentford Station.

(4) Which statement is true about the conversation?

o0 T o

The woman plans to go to the beach tomorrow without taking anything.
The man will be swamped with things to do tomorrow.
The woman has to get up at 6 am. tomorrow to go to the beach.

The man is in charge of some important projects at work.
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Section 3 Listening Comprehension
Listen to the three short passages and answer the questions.

(1)

(D Which reason is NOT mentioned in the passage?
To interact with people of various nationalities.
To acquire a multifaceted view of things.

To become a more mature and self-reliant person.

o0 T o

To improve your language proficiency.

(2 Which of the following matches the passage?

a Teachers and students treat each other like friends in the U.S.

b You should discuss money with your parents when studying abroad.

¢ Japanese people tend to get together with other Japanese people when studying
abroad.

d You have to handle a lot of things on your own when studying abroad.

(2)
(O Why was the first modern TV remote control invented?

a Because one company president wanted to make money from the patent.

b Because one company president did not want to get out of bed to change
channels.

¢ Because one company president wanted to reproduce the idea he had come up
with.

d Because one company president did not want to watch TV commercials.

(2 Which of the following matches the passage?
The first remote control was created following the invention of the television.
The first television was made in the U.S. before Japan in the 1900s.

The first remote control was invented prior to the invention of the television.

o0 T D

The first modern television appeared in Serbia in the 1800s.



(3)

21D5

(D What is the passage mainly about?

o0 T

The coral polyps and the dangers they face.

The coral polyps and a variety of life around the reefs.
The reefs and their direct contribution to Egyptian culture.
The reefs and how they are created.

(2 Which of the following does NOT match the passage?

o 0 T

Coral polyps are sometimes said to have helped make the world.
Coral reefs are bigger than any building in the human world.
Coral reefs are shaped in a fixed and constant pattern.

Coral polyps are a source of limestone in the ocean.
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1 Directions: In this section, (1) to (10), there are incomplete sentences. Beneath each
sentence you will see four words or phrases, marked a to d. Choose one word or

phrase for | 7 |~| | | that best completes the sentence. Then, mark

your answer on your answer sheet.

(1) One of the most popular ways for an adult to try to keep fit is to join a fitness
club. Such a club usually offers a variety of training equipment and .

a Ingredients b candidates ¢ facilities d opponents

(2) We have a skeleton so many bones. These include the bones of the

skull, spine, ribs, arms and legs.
a made up b making up ¢ made up of d making up of
(3) Subscription services are popular these days. There are many good points about

subscriptions: they are convenient, we can a lot of content, and the cost
Is reasonable.

da  accCess b access to

¢ be accessible d be accession to

(4) An element is a simple substance that you cannot smaller chemical
parts. One such element is hydrogen.

a reduce b reduce from ¢ reduce by d reduce to

(5) It has been known for a long time that spending time with animals makes humans
happy. There is also increasing evidence that having an animal around can have

health effects, such as lowering blood pressure or the risk of heart
disease.

a controversial b  beneficial ¢ 1Irrational d vocational
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(6) The changing colors of the sun and the moon are their positions
relative to the earth. The lower the sun is above the horizon, the longer the sunlight

passes through the atmosphere.

a because b despite ¢ evenif d due to

(7) One phenomenon of the modern world is the ease people can travel

from one country to another. This is demonstrated by the increasing number of

Japanese students going abroad.
a with that b of which ¢ with which d what

(8) Water exists not only on the Earth. The solar system is also with

water.

a abundant b compatible ¢ accordance d consistent

9) has a nice pair of earphones these days. However, although the

technology is excellent, sometimes earphones give us problems.

a Almost all people b Almost everybody

¢ Almost people d Almost each person

(10) The Marathon is a very popular running event. It was started to the
feat of a Greek man who ran from the city of Marathon to Athens with news of the

Greek victory over the Persians at Marathon.

a emigrate b alleviate ¢ humiliate d commemorate
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2 Directions: In this section, you will read two passages. There are five blanks in each
passage. Beneath each passage you will see five choices, marked a to e. Choose one for
each blank that best completes the sentences, and mark the second and fourth

elements | Vi |~| 14 | on your answer sheet.

(1)

looked to you
more interesting
if you could

how much

o o0 0 T W

it would have

2) [ IESE [

]

where all products
an economy
such as metal, plastic, and fabric

minimum additional new resources

(I o TN SN © BN

are recycled with
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3 Directions: In this section, you will read two passages. There is a blank in each
passage. Beneath each passage, you will see three sentences, marked 1, 2, and 3.
Choose the order of the sentences for the blank that best completes each passage.

Then, mark your answer on your answer sheet.

(W)

1 There are 24 “working languages” in the European Union, or EU.
2 ASEAN adopted English as its working language in 2009.
3 Of these, English is the most commonly used, with 51% of the EU's citizens

being native or second-language English speakers.
a 1—2—3 b 1—3—2 c 2—3—1 d 3—2—1

(2)

1 However, according to Professors Anil Seth and Alan Winfield, there are two
things humans are far better at: predicting the future and behaving ethically.

2 Machines already outperform humans not only in highly complex calculations,
but also in detecting patterns from large volumes of data.

3 Seth, who specializes in cognitive and computational neuroscience, explains that
what is core to human intelligence is the ability to perceive the world and make

decisions with common sense.

a 1—3—2 b 2—1—3 c 3—1—2 d 3—2—1
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Directions: There are blanks in the following definitions of technical terms in language
teaching. Beneath each definition you will see four words or phrases, marked a to d.

Choose one word or phrase for | 7 |~| ] | that best completes the

definition. Then, mark your answer on your answer sheet.

(1) is the total number of words a person understands, either in reading or

listening.
a Sight vocabulary b Receptive vocabulary
¢ Productive vocabulary d Academic vocabulary

(2) Is, in testing, the positive or negative impact of a test on classroom

teaching or learning. In some countries, for example, national language examinations
have a major impact on teaching and teachers often “teach to the tests”. In order to
bring about changes in teaching, changes may have to be made in the tests.

a Washback b Transfer ¢ Feedback d Reflection

(3) i1s a method that integrates language instruction with subject matter
Instruction in the target language, for example, studying science, social studies or

mathematics through the medium of English.

a Audiolingual method b  Content-based instruction
¢ Task-based language teaching d Usage-based learning

(4) 1s, in conversation, what speakers do in order to achieve successful
communication. For example, to make successful conversation, it may be necessary for
speakers to indicate that they understand or do not understand, or that they want the

conversation to continue.

a Output b Dictation ¢ Recast d Negotiation

(5) Is a process common In both first- and second-language learning, in
which a learner extends the use of a grammatical rule of a linguistic item beyond its

accepted uses, generally by making words or structures follow a more regular pattern.

a Fossilization b Cross-linguistic influence
¢ Overgeneralization d Interlanguage
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1 Directions: You will read two passages. Each passage is followed by an incomplete
statement and four options, marked a to d. Choose the best answer for .

on the basis of what is stated or implied in the passages. Then, mark your
answer on your answer sheet.

(1)

This passage claims that a certain type of bird .

will be able to comprehend human language
has an innate habit of fleeing predators

can understand some “words” of other species

o 0 T W

is born knowing the “languages” of other species
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2)

According to this passage, .

a several studies have revealed the impact of ultra-processed foods on our health
b people are eating less and less ultra-processed foods because of health risks

¢ the production of ultra-processed foods is restricted in several countries

d the relationship between obesity and ultra-processed foods remains unclear
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2 Directions: You will read the following passages, one with a table and one with a
figure. Beneath them, you will see four options, marked a to d. Choose the best answer

for | ] | : | T | on the basis of what is implied in the passages. Then,

mark your answer on your answer sheet.

(D

According to this passage and Table 5.1, in the dictogloss activity.

a students need to be made aware not only of the language form but also of the
content

b it is important how accurately students can reconstruct the text through group
work
c 1t is better not to let students predict the content before listening to the text

d teachers should encourage students to take as many notes as possible
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2)

According to this passage and Figure 2.3, .

a a series of links is sometimes created by a different procedure than the one
shown in the figure, for example, in the reverse direction

b following the consequences, we make decisions based on the interpretations
about students language ability

¢ the most important factor in assessing student performance is the
Interpretations derived from the assessment records

d to use a language assessment, we need to relate students assessment

performance to the information-based outcomes we seek
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Directions: You will read a passage. Beneath the passage, you will see five incomplete
statements and four options, marked a to d. Choose the best option for | 7 |~
on the basis of what is stated or implied in the passage. Then, mark your

answer on your answer sheet.



21016



21017
(1) According to the passage, | 7 |

the materials of the clothes in the warehouse have not been changing
the warehouse was used to make clothes for the Victorian aristocracy
there is a history of diamonds being found in the warehouse

o0 T

the warehouse serves the same function now as it did a century ago

(2) According to the passage, Kirsi Niinimaki and her paper do NOT say that

L« 1

abandoning the fast-fashion model will help stabilize the fashion industry
the fast-fashion model will cease to work from a business perspective
the fast-fashion model is associated with impulse purchases

o0 T

the average American consumers buy and discard clothes at about the same rate

(3) According to the passage, [ % |

a the number of times a clothing item is worn has been increasing markedly in
developed countries

b  the consumption pattern of clothing for many Westerners influenced by the fast-
fashion model is spreading throughout the world

¢ a campaign to promote the reuse of inexpensive clothing is spreading, especially in
developing countries

d the spread of fast fashion has increased the production of clothing and raised the
wages of those working for manufacturers

(4) According to the passage, [ I |

a 1t is considered that the linear model used by the fashion industry is sustainable

b the support of the UN revealed the environmental footprint of the fashion
industry

¢ the fashion industry does not underestimate the environmental impact of fast
fashion

d the fashion industry stands up to the opinion that fast fashion harms the

environment

(5) The most appropriate headline for the passage would be .

“Fast fashion is harming the planet”
“Fast fashion is perishing from the globe”
“Fast fashion is benefiting the earth”

o0 T o

“Fast fashion is spoiling humanity”
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